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B R E) FBHE

TUY# [No. 118+1. 14~No. 119+5. 48] BiEDEFTEREHA : L=24.34m . (No. 118+4. 63~No. 119+2. 25) 1EmEEHLEE : L=17. 62m
# Al Bl % BAfL = TLEHE &
HELAEIT Al t=8cm. 10cm m2 243. 4 243
R IE TAI7IW R K m3 20.8 21
A5 TAT7I MR K& m3 20.8 21
FEmEphKI RERREME
FRARBH 7K B HEMK BB+ ASHIEAEY m2 176.2 176
EERK
EkiA THE ®18m ATYLA m 17.9 18
R B ih# ERiE t=5mm 0Y-ISSEZE R L E m 37.9 38
N - _ R N
(FAITMNSREET) HEET = [Et=40mm FRIEETATY (13) m2 176.2 176
< FEt=50mm FHIETAIY (13) m2 67.2 67
3=l B t=40mm FHIEETAIVE T2 (13) m2 176.2 176
= B t=50mm FHETAIVRE 15 (13) m2 67.2 67
RE#HRT BaX X ER EH B 20cm m 48.7 49
B# B 15cm m 9.7 10




BEFESE
No. 118+1. 14~No. 119+5. 48 24.34 m x
EmEE 17.62 m x
(1) BEYAEI (FR77IL MEEEET)
- FEEER £=80mm
{KiE= 176.2 @2 x 0.080 m
- BR{E8 t=100mm 243.4 — 176.2
A¥E= 67.2 m x 0.100 m
(2) BRhRBHKE
(3) Bk/4 T
(4) pE A it
17.850 m +
) =N - {T (FRIT7IL hHET)
1) BREF7A3Y 13mm
- {EEEH (E B t=40mm)
« B4+ &R (& t=50mm) 243.4 — 176.2
2) BREF7RaY (KRETE) 13mm
- YEE &R (KB t=40mm)
- B {F#0 (FkFE t=50mm) 243.4 — 176.2
(6) XE#
B EfE  20cm 24. 340
B R 15cm 24. 340

243.4
176.2 m

176.2 m

14.1

67.2 m

176. 2

10.00 m =
10.00 m =
BESEE =

Kig =

= 67.2 B EEE =
i =

RI@EE =

10.000 m + 10.000 m =

= 67.2 =
= 67.2 =

17.9

37.9

176. 2

67.2

176. 2

67.2

48.7




2. TITE MWEBRIC~WEXIEPIC(TYER)

[No.119+5.48 ~No0.218+1.00]




BEREXR(ETTIEH)

T U# [No. 119+5. 48~No. 218+1. 00] L=1,975. 52m

7 Al F | b7} By % = FrEHE w &=

BREUIEIT ERE L t=10cm m2 15, 804. 2 15, 800
R IE TAI7Ih AR Lz m3 1,580. 4 1,580
A5 TAT7h AR K& m3 1,580.4 1,580

1?7\65;{?%@%1) 95y 08 L— REEY W=0. 5m m 250.0 250 |mEEsts ook
HEET £ FEt=50mm 7RIV T & (20) m2 15, 804. 2 15, 800
RETL = B t=50mm R—S5RAs (13) m2 15, 804. 2 15, 800
RE#HRT BRARER E# B 20cm m 3,951.0 3,950
i B 1b5cm m 790. 2 790




HEE

fein

No. 119+5. 48 ~No. 218+1. 00 1,975.52 m X 8.00 m = 15,804.2 m

(1) BEYIAEI (PRI 7))L MEREEET)

£=100mm i = 15,804.2 p?
{K%5= 15, 804.2 m X 0.100 m Kig = 1580.4
2) +-N - (FRIZ7IL  GHET)
DA AR R %
< — k3R Y W=0. 5m) = 250.0 m
2) BRE7RAIY (HREITH) 20mm
(B t=50mm) = 15,804.2 p?
3) R—FAFRXZ 7L K13mm
(5= & t=50mm) = 15,804.2 p?
Q) REH
B#g =E#& 20cm 1,975.52 * 2 = 3951.0 m

B#R BE#R  15cm 1,975.52 * 8 / 20 = 790.2 m




